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31. 35.5 g •Ê⁄U‚ÁŸ∑§ •ê‹ ∑§Ê, ‚Ê¥Œ˝ HCl ∑§Ë ©¬ÁSÕÁÃ
◊¥ H2S ∑§Ë •Áœ∑§ ◊ÊòÊÊ ‚ ÁflfløŸ ∑§⁄UŸ ¬⁄U •Ê⁄U‚ÁŸ∑§
¬ã≈UÊ‚À$»§Êß«U ∑§Ë ¬˝Ê# „ÊŸ flÊ‹Ë ◊ÊòÊÊ „Ò (ÿÁŒ 100%
¬Á⁄UflÃ¸Ÿ ◊ÊŸ¥ ÃÊ)—

(1) 0.50 ◊Ê‹

(2) 0.25 ◊Ê‹

(3) 0.125 ◊Ê‹

(4) 0.333 ◊Ê‹
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32. •àÿÁœ∑§ ŒÊ’ ¬⁄U ∞∑§ ◊Ê‹ ªÒ‚ ∑§Ê ‚¥¬Ë«˜ÿÃÊ ªÈáÊÊ¥∑§
„ÊªÊ —

(1)
pb

RT

(2) 1 
pb

RT
+ 

(3) 1
pb

RT
− 

(4) 1
b

(VRT)
−

33. ◊ÈÅÿ ÄflÊ¥≈U◊ •¥∑§ 5 ‚ ¡È«∏ „È∞ ∑§ˇÊ∑§Ê¥ (•ÊÚÁ’¸≈U‹Ê¥)
∑§Ë ∑È§‹ ‚¥ÅÿÊ „Ò —
(1) 5

(2) 10

(3) 20

(4) 25

34. ßŸ◊¥ ‚ ∑§ÊÒŸ‚Ë •¥Ã⁄UÊ-•ÊÁáfl∑§ ’‹ ¡ËŸÊÚŸ ∑§
Œ˝flË∑§⁄UáÊ ∑§ Á‹∞ ‚’‚ •Áœ∑§ ©ûÊ⁄UŒÊÿË „Ò ?

(1) ÁmœÈ˝fl - Ámœ˝Èfl

(2) •ÊÿŸ - Ámœ˝Èfl

(3) ÃÊà∑§ÊÁ‹∑§ Ámœ˝Èfl - ¬˝Á⁄UÃ Ámœ˝Èfl

(4) •ÊÿÁŸ∑§

32. At very high pressures, the compressibility
factor of one mole of a gas is given by :

(1)
pb

RT

(2) 1 
pb

RT
+ 

(3) 1 
pb

RT
− 

(4) 1
b

(VRT)
−

33. The total number of orbitals associated with
the principal quantum number 5 is :

(1) 5

(2) 10

(3) 20

(4) 25

34. Which intermolecular force is most
responsible in allowing xenon gas to
liquefy ?

(1) Dipole - dipole

(2) Ion - dipole

(3) Instantaneous dipole - induced dipole

(4) Ionic
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35. ∞∑§ ⁄UÊ‚ÊÿÁŸ∑§ •Á÷Á∑̋§ÿÊ ÁŸêŸ ÃÊ¬ ¬⁄U •SflÃ— ¬̋flÁÃ̧Ã
„Ò Á∑§ãÃÈ ©ìÊ ÃÊ¬ ¬⁄U SflÃ— ¬˝flÁÃ¸Ã „Ê ¡ÊÃË „Ò– ß‚
•Á÷Á∑˝§ÿÊ ∑§ ’Ê⁄U ◊¥ ÁŸêŸÁ‹ÁπÃ ∑§ÕŸÊ¥ ◊¥ ‚ ‚„Ë
∑§ÕŸ ∑§Ê ¬„øÊÁŸÿ —

(1)  ∆H ÃÕÊ ∆S, ŒÊŸÊ¥ ´§áÊÊà◊∑§ „Ò¥–

(2)  ∆H ÃÕÊ ∆S, ŒÊŸÊ¥ œŸÊà◊∑§ „Ò¥–

(3) ∆H œŸÊà◊∑§ ÃÕÊ ∆S ´§áÊÊà◊∑§ „Ò–

(4) ∆H ´§áÊÊà◊∑§ ÃÕÊ ∆S œŸÊà◊∑§ „Ò–

36. N2 ∑§Ë ¡‹ ◊¥ Áfl‹ÿÃÊ 300 K ÃÕÊ 500 torr •Ê¥Á‡Ê∑§
ŒÊ’ ¬⁄U 0.01 g L−1 „Ò– ß‚∑§Ë Áfl‹ÿÃÊ (g L−1

◊¥) 750 torr •Ê¥Á‡Ê∑§ ŒÊ’ ¬⁄U „ÊªË —
(1) 0.0075

(2) 0.015

(3) 0.02

(4) 0.005

37. ⁄UÊ‚ÊÿÁŸ∑§ •Á÷Á∑˝§ÿÊ
A(g)+B(g) → C(g)+D(g), ∑ Á‹∞ 298 K ¬⁄U
∆H8 ÃÕÊ ∆S8 ∑§ ◊ÊŸ ∑˝§◊‡Ê— −29.8 kJ mol−1

ÃÕÊ−0.100 kJ K−1 mol−1 „Ò¥– ß‚ •Á÷Á∑˝§ÿÊ ∑§Ê
298 K ¬⁄U ‚Êêÿ ÁSÕ⁄UÊ¥∑§ „Ò —
(1) 1.0×10−10

(2) 1.0×1010

(3) 10

(4) 1

35. A reaction at 1 bar is non-spontaneous at
low temperature but becomes spontaneous
at high temperature.  Identify the correct
statement about the reaction among the
following :

(1) Both ∆H and ∆S are negative.

(2) Both ∆H and ∆S are positive.

(3) ∆H is positive while ∆S is negative.

(4) ∆H is negative while ∆S is positive.

36. The solubility of N2 in water at 300 K and
500 torr partial pressure is 0.01 g L−1. The
solubility (in g L−1) at 750 torr partial
pressure is :

(1) 0.0075

(2) 0.015

(3) 0.02

(4) 0.005

37. For the reaction,
A(g)+B(g) → C(g)+D(g), ∆H8 and ∆S8 are,
respectively, −29.8 kJ mol−1 and
−0.100 kJ K−1 mol−1 at 298 K.  The
equilibrium constant for the reaction at
298 K is :

(1) 1.0×10−10

(2) 1.0×1010

(3) 10

(4) 1
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38. ÿÁŒ ∑§ÊÚ¬⁄U ∑§ ∞∑§ é‹ÊÚ∑§ (block) ∑§Ê ∞∑§ ’Ë∑§⁄U ◊¥
«UÊ‹Ê ¡Êÿ Á¡‚◊¥ 1M ZnSO4 ∑§Ê Áfl‹ÿŸ „Ê ÃÊ
ÄÿÊ „ÊªÊ ?

(1) ∑§ÊÚ¬⁄U œÊÃÈ ÉÊÈ‹ ¡ÊÿªË ÃÕÊ Á$¡¥∑§ œÊÃÈ ÁŸˇÊÁ¬Ã
„Ê ¡ÊÿªË–

(2) „Êß«˛UÊ¡Ÿ ªÒ‚ ∑§ ÁŸ∑§‹Ÿ ∑§ ‚ÊÕ-‚ÊÕ ∑§ÊÚ¬⁄U
œÊÃÈ ÉÊÈ‹ ¡ÊÿªË–

(3) •ÊÚÄ‚Ë¡Ÿ ªÒ‚ ∑§ ÁŸ∑§‹Ÿ ∑§ ‚ÊÕ-‚ÊÕ ∑§ÊÚ¬⁄U
œÊÃÈ ÉÊÈ‹ ¡ÊÿªË–

(4) ∑§Êß¸ •Á÷Á∑˝§ÿÊ Ÿ„Ë¥ „ÊªË–

39. Ä‹Ê⁄ËUŸ ¬⁄U◊ÊáÊÈ•Ê¥ ∑§Ë ©¬ÁSÕÁÃ ◊¥, •Ê$¡ÊŸ ∑§Ë
•ÊÚÄ‚Ë¡Ÿ ¬⁄U◊ÊáÊÈ•Ê¥ ‚ •Á÷Á∑˝§ÿÊ ÁŸêŸÁ‹ÁπÃ
Ám¬ŒËÿ ¬˝∑˝§◊ mÊ⁄UÊ „ÊÃË „Ò —

O3(g)+Cl•(g) → O2(g)+ClO•(g) ____ (i)

ki= 5.2×109 L mol−1 s−1

ClO•(g)+O•(g) → O2(g)+Cl•(g) ____ (ii)

kii= 2.6×1010 L mol−1 s−1

∑È§‹ •Á÷Á∑˝§ÿÊ O3(g)+O•(g) → 2 O2(g) ∑§Ê
ÁŸ∑§≈UÃ◊ flª ÁŸÿÃÊ¥∑§ „Ò —
(1) 5.2×109 L mol−1 s−1

(2) 2.6×1010 L mol−1 s−1

(3) 3.1×1010 L mol−1 s−1

(4) 1.4×1020 L mol−1 s−1

38. What will occur if a block of copper metal
is dropped into a beaker containing a
solution of 1M ZnSO4 ?

(1) The copper metal will dissolve and
zinc metal will be deposited.

(2) The copper metal will dissolve with
evolution of hydrogen gas.

(3) The copper metal will dissolve with
evolution of oxygen gas.

(4) No reaction will occur.

39. The reaction of ozone with oxygen atoms
in the presence of chlorine atoms can occur
by a two step process shown below :

O3(g)+Cl•(g) → O2(g)+ClO•(g) ____ (i)

ki= 5.2×109 L mol−1 s−1

ClO•(g)+O•(g) → O2(g)+Cl•(g) ____ (ii)

kii= 2.6×1010 L mol−1 s−1

The closest rate constant for the overall
reaction O3(g)+O•(g) → 2 O2(g) is :

(1) 5.2×109 L mol−1 s−1

(2) 2.6×1010 L mol−1 s−1

(3) 3.1×1010 L mol−1 s−1

(4) 1.4×1020 L mol−1 s−1
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40. ∞∑§ Áfl‡Ê· •Áœ‡ÊÊ·áÊ ¬̋Á∑̋§ÿÊ ∑§ Áfl‡Ê· ªÈáÊœ◊̧ „Ò¥ —
(i) ÿ„ flÊ¥«U⁄U flÊÀ‚ ’‹ ∑§ ∑§Ê⁄áÊ „ÊÃË „Ò ÃÕÊ (ii) ÿ„
©à∑˝§◊áÊËÿ „Ò– ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ fl„ ‚„Ë ∑§ÕŸ
¬„øÊÁŸÿ ¡Ê ß‚ •Áœ‡ÊÊ·áÊ ¬˝Á∑˝§ÿÊ ∑§Ê ‚„Ë fláÊ¸Ÿ
∑§⁄UÃÊ „Ò —

(1) •Áœ‡ÊÊ·áÊ ∑§Ë ∞ãÕÒÀ¬Ë 100 kJ mol−1 ‚
•Áœ∑§ „Ò–

(2) ‚Á∑˝§ÿáÊ ™§¡Ê¸ ÁŸêŸ „Ò–

(3) •Áœ‡ÊÊ·áÊ ∞∑§‹ •áÊÈ∑§ ¬⁄UÃËÿ „Ò–

(4) ÃÊ¬ ’…∏Ÿ ¬⁄U •Áœ‡ÊÊ·áÊ ’…∏ÃÊ „Ò–

41. fl„ •œÊÃÈ ¡Ê œŸÊà◊∑§ •ÊÚÄ‚Ë∑§⁄UáÊ •flSÕÊ Ÿ„Ë¥

Œ‡ÊÊ¸ÃË, „ÊªË —

(1) •ÊÚÄ‚Ë¡Ÿ

(2) •ÊÿÊ«UËŸ

(3) Ä‹Ê⁄UËŸ

(4) ç‹È•Ê⁄UËŸ

40. A particular adsorption process has the
following characteristics : (i) It arises due
to van der Waals forces and (ii) it is
reversible. Identify the correct statement
that describes the above adsorption
process :

(1) Enthalpy of adsorption is greater than
100 kJ mol−1.

(2) Energy of activation is low.

(3) Adsorption is monolayer.

(4) Adsorption increases with increase in
temperature.

41. The non-metal that does not exhibit
positive oxidation state is :

(1) Oxygen

(2) Iodine

(3) Chlorine

(4) Fluorine
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42. ‚ÊÕ ÁŒÿ „Èÿ •Ê‹π ◊¥ ÁŸêŸÁ‹ÁπÃ ŒÊ •Á÷Á∑˝§ÿÊ•Ê¥
∑§ Á‹ÿ −ln Kp ∑§Ê ÃÊ¬ ∑§ ‚ÊÕ ¬Á⁄UflÃ¸Ÿ Œ‡ÊÊ¸ÿÊ
ªÿÊ „Ò–

2

1
M(s)  O (g)  MO(s)

2
→+ ÃÕÊ

1
C(s) 

2
+ O2(g) → CO(s)

ÁŸêŸÁ‹ÁπÃ ∑§ÕŸÊ¥ ◊¥ ‚ ‚„Ë ∑§ÕŸ ¬„øÊÁŸÿ —

(1) T>1200 K, ¬⁄U ∑§Ê’¸Ÿ MO(s) ∑§Ê •¬øÁÿÃ
∑§⁄U∑§ M(s) ŒªÊ–

(2) T<1200 K, ¬⁄U •Á÷Á∑˝§ÿÊ, MO(s)+C(s)

→ M(s)+CO(g) SflÃ— ¬˝flÁÃ¸Ã „Ò –

(3) T<1200 K ¬⁄U ∑§Ê’¸Ÿ ∑§Ê ©¬øÿŸ ¬˝ÁÃ∑Í§‹
„Ò–

(4) ∑§Ê’¸Ÿ ∑§Ê ©¬øÿŸ ‚÷Ë ÃÊ¬ ¬⁄U •ŸÈ∑Í§‹ „Ò–

42. The plot shows the variation of −ln Kp
versus temperature for the two reactions.

→

→

2

2

1
M(s)  O (g)  MO(s) and 

2
1

C(s)  O (g)  CO(s)
2

+ 

+ 

Identify the correct statement :

(1) At T>1200 K, carbon will reduce
MO(s) to M(s).

(2) At T<1200 K, the reaction
MO(s)+C(s)  →  M(s)+CO(g) is
spontaneous.

(3) At T<1200 K, oxidation of carbon is
unfavourable.

(4) Oxidation of carbon is favourable at
all temperatures.
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43. ÷Ê⁄UË ¬ÊŸË ∑§ ’Ê⁄U ◊¥ ÁŒÿ ªÿ ∑§ÕŸÊ¥ ◊¥ ‚ •‚àÿ

∑§ÕŸ ¬„øÊÁŸÿ —
(1) ÿ„ Al4C3 ‚ •Á÷Á∑˝§ÿÊ ∑§⁄U∑§ CD4 ÃÕÊ

Al(OD)3 ’ŸÊÃÊ „Ò –
(2) ß‚∑§Ê ©¬ÿÊª ŸÊÁ÷∑§Ëÿ Á⁄U∞Ä≈U⁄U ◊¥ ‡ÊËÃ‹∑§

∑§ M§¬ ◊¥ Á∑§ÿÊ ¡ÊÃÊ „Ò–
(3) ÿ„ CaC2 ‚ •Á÷Á∑˝§ÿÊ ∑§⁄U∑§ C2D2 ÃÕÊ

Ca(OD)2’ŸÊÃÊ „Ò–
(4) ÿ„ SO3 ‚ •Á÷Á∑˝§ÿÊ ∑§⁄U∑§ «KÍ≈UÁ⁄UÃ

‚ÀçÿÍÁ⁄U∑§ •ê‹ (D2SO4) ’ŸÊÃÊ „Ò–

44. ˇÊÊ⁄UËÿ ◊ÎŒÊ œÊÃÈ ‚À$»§≈UÊ¥ ∑§Ë ¡‹ ◊¥ Áfl‹ÿÃÊ ∑§Ê ‚„Ë
∑˝§◊ „Ò —
(1) Mg < Ca < Sr < Ba
(2) Mg < Sr < Ca < Ba
(3) Mg > Sr > Ca > Ba
(4) Mg > Ca > Sr > Ba

45. ∑§ÊÚ‹◊ I ◊¥ ÁŒÿ ªÿ ¬ŒÊÕÊZ (items) ∑§Ê ∑§ÊÚ‹◊ II

◊¥ ÁŒÿ ªÿ ©¬ÿÊªÊ¥ ‚ ‚È◊Á‹Ã ∑§ËÁ¡ÿ —

(A) Á‚Á‹∑§Ê ¡ÒÒ‹ (i) ≈UŲÊ¥Á‚S≈U⁄U
(B) Á‚Á‹∑§Ÿ (ii) •ÊÿŸ ÁflÁŸ◊ÿ∑§
(C) Á‚Á‹∑§ÊŸ (iii) ‡ÊÈc∑§Ÿ ∑§◊∑̧§
(D) Á‚Á‹∑§≈U (iv) ‚Ë‹∑§ (sealant)

∑§ÊÚ‹◊ I ∑§ÊÚ‹◊ II

(1) (A)-(iii), (B)-(i), (C)-(iv), (D)-(ii)
(2) (A)-(iv), (B)-(i), (C)-(ii), (D)-(iii)
(3) (A)-(ii), (B)-(iv), (C)-(i), (D)-(iii)
(4) (A)-(ii), (B)-(i), (C)-(iv), (D)-(iii)

43. Identify the incorrect statement regarding
heavy water :

(1) It reacts with Al4C3 to produce CD4
and Al(OD)3.

(2) It is used as a coolant in nuclear
reactors.

(3) It reacts with CaC2 to produce C2D2
and Ca(OD)2.

(4) It reacts with SO3 to form deuterated
sulphuric acid (D2SO4).

44. The correct order of the solubility of
alkaline-earth metal sulphates in water is :

(1) Mg < Ca < Sr < Ba

(2) Mg < Sr < Ca < Ba

(3) Mg > Sr > Ca > Ba

(4) Mg > Ca > Sr > Ba

45. Match the items in Column I with its main
use listed in Column II :

(A) Silica gel (i) Transistor

(B) Silicon (ii) Ion-exchanger

(C) Silicone (iii) Drying agent

(D) Silicate (iv) Sealant

Column I Column II

(1) (A)-(iii), (B)-(i), (C)-(iv), (D)-(ii)

(2) (A)-(iv), (B)-(i), (C)-(ii), (D)-(iii)

(3) (A)-(ii), (B)-(iv), (C)-(i), (D)-(iii)

(4) (A)-(ii), (B)-(i), (C)-(iv), (D)-(iii)
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46. ∑§ÊÒŸ ‚Ê ‚◊Í„ ‚◊M§¬ •áÊÈ•Ê¥ ∑§Ê ‚◊Í„ „Ò —
(1) SF4 

, XeF4 
, CCl4

(2) ClF3 
, XeOF2 

, 
3

XeF
+

(3) BF3 
, PCl3 

, XeO3

(4) PCl5 
, IF5 

, XeO2F2

47. ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ¡‹Ëÿ Áfl‹ÿŸ ◊¥ SÕÊÿË S¬Ë‡ÊË$¡
∑§ÊÒŸ ‚Ë „Ò?
(1) Cr2+

(2) Cu+

(3) 3

4
MnO
−

(4) 2

4
MnO
−

48. ÁŸêŸÁ‹ÁπÃ ‚¥∑È§‹Ê¥ ◊¥ ‚ ∑§ÊÒŸ ‚Ê ‚¥∑È§‹ Ag(NO3)

∑§ ¡‹Ëÿ Áfl‹ÿŸ ∑§ •Áœ∑§ ‚◊ÃÈÀÿ π¬ÊÿªÊ ?
(1) Na3[CrCl6]

(2) [Cr(H2O)5Cl]Cl2
(3) [Cr(H2O)6]Cl3
(4) Na2[CrCl5(H2O)]

46. The group of molecules having identical
shape is :

(1) SF4 
, XeF4 

, CCl4

(2) ClF3 
, XeOF2 

, 
3

XeF
+

(3) BF3 
, PCl3 

, XeO3

(4) PCl5 
, IF5 

, XeO2F2

47. Which one of the following species is stable
in aqueous solution ?

(1) Cr2+

(2) Cu+

(3) 3

4
MnO
−

(4) 2

4
MnO
−

48. Which one of the following complexes will
consume more equivalents of aqueous
solution of Ag(NO3) ?

(1) Na3[CrCl6]

(2) [Cr(H2O)5Cl]Cl2
(3) [Cr(H2O)6]Cl3
(4) Na2[CrCl5(H2O)]
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49. ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ‚„Ë ¬˝flÎÁûÊ ¬„øÊÁŸÿ —
(¬⁄U◊ÊáÊÈ ∑˝§◊Ê¥∑§=Ti : 22, Cr : 24 ÃÕÊ Mo : 42)

(1) [Cr(H2O)6]
2+ ∑§Ê

∆o > [Mo(H2O)6]
2+  ÃÕÊ

[Ti(H2O)6]
3+ ∑§Ê ∆o > [Ti(H2O)6]

2+

(2) [Cr(H2O)6]
2+  ∑§Ê ∆o >

[Mo(H2O)6]
2+  ÃÕÊ [Ti(H2O)6]

3+∑§Ê

∆o < [Ti(H2O)6]
2+

(3) [Cr(H2O)6]
2+ ∑§Ê

∆o < [Mo(H2O)6]
2+  ÃÕÊ

[Ti(H2O)6]
3+ ∑§Ê ∆o > [Ti(H2O)6]

2+

(4) [Cr(H2O)6]
2+ ∑§Ê

∆o <  [Mo(H2O)6]
2+  ÃÕÊ

[Ti(H2O)6]
3+ ∑§Ê ∆o < [Ti(H2O)6]

2+

50. ’Ë.•Ê.«UË. (BOD) Œ‡ÊÊ¸ÃÊ „Ò —

(1) ’ÊÿÊ‹Ê¡Ë∑§‹ •ÊÚÄ‚Ë¡Ÿ Á«U◊Ê¥«U

(2) ’ÒÄ≈UËÁ⁄Uÿ‹ •ÊÚÄ‚Ë«U‡ÊŸ Á«U◊Ê¥«U

(3) ’ÊÿÊ∑Ò§Á◊∑§‹ •ÊÚÄ‚Ë¡Ÿ Á«U◊Ê¥«U

(4) ’ÊÿÊ∑Ò§Á◊∑§‹ •ÊÚÄ‚Ë«U‡ÊŸ Á«U◊Ê¥«U

49. Identify the correct trend given below :

(Atomic No.=Ti : 22, Cr : 24 and Mo : 42)

(1) ∆o  of  [Cr(H2O)6]
2+ >

[Mo(H2O)6]
2+ and

∆o of [Ti(H2O)6]
3+ > [Ti(H2O)6]

2+

(2) ∆o  of  [Cr(H2O)6]
2+

> [Mo(H2O)6]
2+ and

∆o of [Ti(H2O)6]
3+ < [Ti(H2O)6]

2+

(3) ∆o  of  [Cr(H2O)6]
2+

< [Mo(H2O)6]
2+  and

∆o of [Ti(H2O)6]
3+ > [Ti(H2O)6]

2+

(4) ∆o  of  [Cr(H2O)6]
2+

< [Mo(H2O)6]
2+  and

∆o of [Ti(H2O)6]
3+ < [Ti(H2O)6]

2+

50. BOD stands for :

(1) Biological Oxygen Demand

(2) Bacterial Oxidation Demand

(3) Biochemical Oxygen Demand

(4) Biochemical Oxidation Demand
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51. ∞∑§ ∑§Ê’¸ÁŸ∑§ ÿÊÒÁª∑§ ◊¥ C, H ÃÕÊ S Áfll◊ÊŸ „Ò¥–
ÿÁŒ ß‚ ÿÊÒÁª∑§ ◊¥ 8% ‚À$»§⁄U „Ê ÃÊ ß‚∑§Ê ãÿÍŸÃ◊
•áÊÈ ÷Ê⁄U „ÊªÊ —

( S ∑§Ê ¬⁄U◊ÊáÊÈ ÷Ê⁄U =32 amu)

(1) 200 g mol−1

(2) 400 g mol−1

(3) 600 g mol−1

(4) 300 g mol−1

52. ‚ÊÃ ∑§Ê’¸Ÿ ¬⁄U◊ÊáÊÈ•Ê¥ flÊ‹Ê ∞∑§ „Êß«˛UÊ∑§Ê’¸Ÿ ∑§ÊÒŸ
„ÊªÊ Á¡‚◊¥ ∞∑§ ÁŸ•Ê¬Áã≈U‹ ‚◊Í„ ÃÕÊ ∞∑§ flÊßÁŸ‹
‚◊Í„ „Ê —

(1) 2, 2-«UÊß¸◊ÁÕ‹-4-¬ã≈UËŸ

(2) •Êß‚Ê¬˝ÊÁ¬‹-2-éÿÍÁ≈UŸ

(3) 4, 4-«UÊß¸◊ÁÕ‹¬ã≈UËŸ

(4) 2, 2-«UÊß¸◊ÁÕ‹-3-¬ã≈UËŸ

53. ∞∑§ ∞À∑§Ÿ ∑§Ë 5 L ◊ÊòÊÊ ∑§ ¬ÍáÊ¸ Œ„Ÿ ∑§ Á‹ÿ 25 L
•ÊÚÄ‚Ë¡Ÿ ∑§Ë •Êfl‡ÿ∑§ÃÊ „ÊÃË „Ò– ÿÁŒ ‚÷Ë •ÊÿÃŸ
◊ÊŸ∑§ ÃÊ¬ ÃÕÊ ŒÊ’ ¬⁄U ◊Ê¬ ªÿ „Ê¥, ÃÊ ∞À∑§Ÿ
„ÊªË —

(1) ∞ÕŸ

(2) ¬˝Ê¬Ÿ

(3) éÿÍ≈UŸ

(4) •Êß‚ÊéÿÍ≈UŸ

51. An organic compound contains C, H and
S. The minimum molecular weight of the
compound containing 8% sulphur is :

(atomic weight of S=32 amu)

(1) 200 g mol−1

(2) 400 g mol−1

(3) 600 g mol−1

(4) 300 g mol−1

52. The hydrocarbon with seven carbon atoms
containing a neopentyl and a vinyl group
is :

(1) 2, 2-dimethyl-4-pentene

(2) Isopropyl-2-butene

(3) 4, 4-dimethylpentene

(4) 2, 2-dimethyl-3-pentene

53. 5 L of an alkane requires 25 L of oxygen for
its complete combustion.  If all volumes are
measured at constant temperature and
pressure, the alkane is :

(1) Ethane

(2) Propane

(3) Butane

(4) Isobutane
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54. CH3MgBr ∑§Ê ◊ÕÒŸÊÚ‹ ◊¥ ª◊¸ ∑§⁄UŸ ¬⁄U ©à¬ÛÊ „ÊŸ
flÊ‹Ë ªÒ‚ „Ò —
(1) HBr

(2) ◊ÕÒŸ

(3) ∞ÕŸ

(4) ¬˝Ê¬Ÿ

55. ’ÍflÊ-é‹Ê¥∑§ Á⁄U«UÄ‡ÊŸ ¬˝Á∑˝§ÿÊ ◊¥ „ÊÃÊ „Ò —

(1) ∞Á‚‹ „Ò‹Êß«U ∑§Ê H2/Pd ‚ •¬øÿŸ–

(2) ∞S≈U⁄U ∑§Ê Na/C2H5OH ‚ •¬øÿŸ–

(3) ∑§Ê’Ê¸ÁŸ‹ ÿÊÒÁª∑§ ∑§Ê Na/Hg ÃÕÊ HCl ‚
•¬øÿŸ–

(4) ∞∑§ ∞Ÿ„Êß«˛UÊß«U ∑§Ê LiAlH4 ‚ •¬øÿŸ–

56. ¬˝ÊÕÁ◊∑§, ÁmÃËÿ∑§ ÃÕÊ ÃÎÃËÿ∑§ ∞◊ËŸÊ¥ ◊¥ •ãÃ⁄U ∑§⁄UŸ
∑§ Á‹ÿ ¬˝ÿÈÄÃ „ÊŸ flÊ‹Ê ¬⁄UËˇÊáÊ „Ò —

(1) ∑§ÊÁ’¸‹∞◊ËŸ •Á÷Á∑˝§ÿÊ
(2) C6H5SO2Cl

(3) ‚Òã«U◊Êÿ⁄U •Á÷Á∑˝§ÿÊ

(4) ◊S≈U«¸U •ÊÚÿ‹ ¬⁄UËˇÊáÊ

54. The gas evolved on heating CH3MgBr in
methanol is :

(1) HBr

(2) Methane

(3) Ethane

(4) Propane

55. Bouveault-Blanc reduction reaction
involves :

(1) Reduction of an acyl halide with
H2/Pd.

(2) Reduction of an ester with
Na/C2H5OH.

(3) Reduction of a carbonyl compound
with Na/Hg and HCl.

(4) Reduction of an anhydride with
LiAlH4.

56. The test to distinguish primary,  secondary
and tertiary amines is :

(1) Carbylamine reaction

(2) C6H5SO2Cl

(3) Sandmeyer’s reaction

(4) Mustard oil test
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57. ∑§ÕŸ : ⁄UÿÊÚŸ ∞∑§ •ḩ‚¥Á‡‹C ’„È‹∑§ „Ò Á¡‚∑§
ªÈáÊœ◊̧ ¬̋Ê∑Î§ÁÃ∑§ ∑§¬Ê‚ ‚ •Áœ∑§ •ë¿U
„Ò¥–

∑§Ê⁄UáÊ : ∞‚ËÁ≈U‹Ë∑§⁄UáÊ ‚ ‚‹È‹Ê‚ ∑§ ÿÊ¥ÁòÊ∑§
fl ‚ÊÒ¥Œÿ¸¬⁄U∑§ ªÈáÊœ◊ÊZ ∑§Ê ‚ÈœÊ⁄UÊ ¡Ê
‚∑§ÃÊ „Ò–

(1) “∑§ÕŸ” fl “∑§Ê⁄UáÊ” ŒÊŸÊ¥ ‚„Ë „Ò¥ ÃÕÊ “∑§Ê⁄áÊ”,
“∑§ÕŸ” ∑§Ë ‚„Ë √ÿÊÅÿÊ „Ò–

(2) “∑§ÕŸ” fl “∑§Ê⁄UáÊ” ŒÊŸÊ¥ ‚„Ë „Ò¥ Á∑§ãÃÈ “∑§Ê⁄UáÊ”,
“∑§ÕŸ” ∑§Ë ‚„Ë √ÿÊÅÿÊ Ÿ„Ë¥ „Ò–

(3) “∑§ÕŸ” ª‹Ã „Ò Á∑§ãÃÈ “∑§Ê⁄UáÊ” ‚„Ë „Ò–

(4) “∑§ÕŸ” fl “∑§Ê⁄UáÊ” ŒÊŸÊ¥ ª‹Ã „Ò¥–

58. ∞S¬ÊÁ≈¸U∑§ •ê‹ ∑§ ÁŸêŸÁ‹ÁπÃ •ŸÈ∑˝§◊ ¬⁄U ÁfløÊ⁄U
∑§ËÁ¡∞ —

∞S¬ÊÁ≈U¸∑§ •ê‹ ∑§Ê pI (‚◊Áfl÷fl Á’¥ŒÈ ) „Ò —
(1) 1.88

(2) 3.65

(3) 5.74

(4) 2.77

57. Assertion : Rayon is a semisynthetic
polymer whose properties
are better than natural cotton.

Reason :   Mechanical and aesthetic
properties of cellulose can be
improved by acetylation.

(1) Both assertion and reason are correct,
and the reason is the correct
explanation for the assertion.

(2) Both assertion and reason are correct,
but the reason is not the correct
explanation for the assertion.

(3) Assertion is incorrect statement, but
the reason is correct.

(4) Both assertion and reason are
incorrect.

58. Consider the following sequence for
aspartic acid :

The pI (isoelectric point) of aspartic acid
is :

(1) 1.88

(2) 3.65

(3) 5.74

(4) 2.77
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59. fl„ ∑Î§ÁòÊ◊ ◊œÈ⁄U∑§ Á¡‚∑§Ê ßˇÊÈ ‡Ê∑¸§⁄UÊ ∑§Ë ÃÈ‹ŸÊ ◊¥
◊ÊœÈÿ¸◊ÊŸ ‚’‚ •Áœ∑§ „Ò —

(1) ∞‚¬Ê≈¸UŸ

(2) ‚Ò∑§⁄UËŸ

(3) ‚È∑˝§Ê‹Ê‚

(4) ∞‹Ë≈U◊

60. •¥«U ∞ÀéÿÍÁ◊Ÿ ∑§Ê ‚ÊÚ‹ ’ŸÊŸ ∑§Ë ‚’‚ ©ÁøÃ ÁflÁœ
„Ò —

(1) •¥«U ∑§Ê äÿÊŸ¬Ífl¸∑§ ÃÊ«∏¥ •ÊÒ⁄U ©‚∑§ ¬Ê⁄UŒ‡ÊË¸
÷Êª ∑§Ê 100 mL 5% w/V ‹fláÊ ¡‹ ◊¥
Á◊‹Ê ∑§⁄U •ë¿UË Ã⁄U„ Á„‹Êÿ¥–

(2) •¥«U ∑§Ê äÿÊŸ¬Ífl¸∑§ ÃÊ«∏¥ •ÊÒ⁄U ©‚∑§ ¬Ë‹ ÷Êª
∑§Ê 100 mL 5% w/V ‹fláÊ ¡‹ ◊¥ Á◊‹Ê
∑§⁄U •ë¿UË Ã⁄U„ Á„‹Êÿ¥–

(3) •¥«U ∑§Ê ©’‹Ã ¡‹ ◊¥  10 Á◊Ÿ≈U Ã∑§ ⁄Uπ¥ –
©‚∑§Ê Á¿U‹∑§Ê ©ÃÊ⁄UŸ ∑§ ¬‡øÊÃ˜ ©‚∑§ ‚»§Œ
÷Êª ∑§Ê 100 mL  5% w/V  ‹fláÊ ¡‹ ◊¥
Á◊‹Êÿ¥ •ÊÒ⁄U ÿÊ¥ÁòÊ∑§ „ÁÀ‹òÊ ◊¥ ‚◊Ê¥ªË∑Î§Ã ∑§⁄¥U–

(4) •¥«U ∑§Ê ©’‹Ã ¡‹ ◊¥ 10 Á◊Ÿ≈U Ã∑§ ⁄Uπ¥–
©‚∑§Ê Á¿U‹∑§Ê ©ÃÊ⁄UŸ ∑§ ¬‡øÊÃ˜ ©‚∑§ ¬Ë‹
÷Êª ∑§Ê 100 mL  5% w/V ‹fláÊ ¡‹ ◊¥
Á◊‹Êÿ¥ •ÊÒ⁄U ÿÊ¥ÁòÊ∑§ „ÁÀ‹òÊ ◊¥ ‚◊Ê¥ªË∑Î§Ã ∑§⁄¥U–

59. The artificial sweetener that has the highest
sweetness value in comparison to cane
sugar is :

(1) Aspartane

(2) Saccharin

(3) Sucralose

(4) Alitame

60. The most appropriate method of making
egg-albumin sol is :

(1) Break an egg carefully and transfer
the transparent part of the content to
100 mL of 5% w/V saline solution
and stir well.

(2) Break an egg carefully and transfer
only the yellow part of the content to
100 mL of 5% w/V saline solution
and stir well.

(3) Keep the egg in boiling water for 10
minutes.  After removing the shell,
transfer the white part of the content
to 100 mL of 5% w/V saline solution
and homogenize with a mechanical
shaker.

(4) Keep the egg in boiling water for 10
minutes. After removing the shell,
transfer the yellow part of the content
to 100 mL of 5% w/V saline solution
and homogenize with a mechanical
shaker.
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